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QUESTION 1

Which of the following are use cases for an Advanced Adapter Engine Extended (AEX) standalone installation?
(Choose two)

A. Use AEX as "lightweight" and low-cost integration middleware.
B. Use AEX as a central monitoring environment.

C. Use AEX as a test environment.

D. Use AEX as a "lightweight" and low-cost integration Web server.

Correct Answer: AC

QUESTION 2

You have configured and activated a SOAP communication channel on a dual-stack system. Now you want to monitor
the status of this SOAP adapter.

Which of the following tools can you use? (Choose three)
A. Central Pl Monitoring (PiMon)

B. SAP Solution Manager

C. SOA Manager

D. Transaction SXMB_MONI

E. Runtime Workbench

Correct Answer:. ABE

QUESTION 3

What is the purpose of the standard function "exists" when used for a source element in message mapping?
A. To check whether the element exists in the source message

B. To check whether the element in the source message has a value

C. To check whether the same element exists in the target structure

D. To check whether the element is mandatory in the source structure

Correct Answer: A

QUESTION 4
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What is the purpose of the IMS adapter?

A. To communicate with a mail server asynchronously

B. To communicate with a mail server synchronously

C. To communicate with a messaging system synchronously
D. To communicate with a messaging system asynchronously

Correct Answer: D

QUESTION 5
A message is sent from the central Integration Engine to the Advanced Adapter Engine.
Which sequence of steps is typical for message processing in the Advanced Adapter Engine?

A. Receive message via HTTP Persist message Call multiple module processors Call pipeline Send message to back-
end system

B. Receive message via HTTP Persist message Call module processors Send message to back-end system
C. Receive message via RFC Persist message Call module processors Send message to back- end system
D. Receive message via JMS Persist message Call module processors Send message to back- end system

Correct Answer: B
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